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THEORY OF EQUATIONS AND LINEAR ALGEBRA

UNIT 1:

Relations between the roots and coefficients of equations - Symmetric function of the roots —-Sum
fthe powers of the roots — Newton’s Theorem on the sum of the powers of the roots.

Chapter 6: Sections 11-14 of Text Book 1)
JNIT 2:

lerlgf?rplaﬁons of Equations — Reciprocal equations of all types - Diminishing, Increasing and
gu tip ying the roots by a constant — Forming equations with the given roots — Removal of terms —
escarte’s rule c_of Signs (Statement only) — simple problems.

Chapter 6: Sections 15 to 20 & 24 of Text Book 1)

JNIT 3:

)eﬁmtl_on an_d simple properties of a vector space — subspaces and quotient spaces- sums and direct
ums- linear independence — basis and dimension.

Chapter 6: sec 6.1- 6.5 of Text Book 2).

INIT 4:

[omomorphisrp — dual spaces- algebra of linear transformations- Eigen value and Eigen vectors-
lgebra of matrices — triangular form- trace and transpose- rank of a matrix.
Chapter 6: sec 6.6, 6.7, Chapter 7: Sections 7.1 - 7.6 of Text Book 2)

INIT 5:

fatrices — Rank of a Matrix — Eigen Values, Eigen Vectors — Cayley’s Hamilton Theorem -
erification of Cayley’s Hamilton theorem.

Chapter 2 :Sections 1-14,16-16.5 of Text Book 3)

‘ext Book(s)

|] TK. Manickavasagom Pillai ,T.Natarajan, K.S.Ganapathy , Algebra Volume I, S.V Publications

2016
)] M.L. Santiago, Modern Algebra, Tata McGraw Hill Publishing Company, New Delhi, 2002
)] T.K.Manickavasagom Pillai & others, Algebra Volume II S.V. Publications -2015

ooks for Reference

]Classical Algebra, A.Singaravelu, R.Ramaa.

']V Krishnamoorthy, V.P.Mainra, J L. Arora, An Introduction to Linear Algebra, Affiliated East— West Press.
] Frank Ayres ,Matrices - Schaum’s Outline Series.

Question Pattern (Both in English & Tamil Version)

sction A : 10 x 2 = 20 Marks, 2 Questions from each Unit. _
setion B: 5 x5 =25 Marks, EITHER OR ( a or b) Pattern, One question from each Unit.
setion C : 3 x 10 =30 Marks, 3 out of 5, One Question from each Unit. .
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